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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet.

2. GETET FurgWe 979+ Wil H 81 2. Candidates are required to give their
I answers in their own words as far

as practicable.

3. e 3 gifdrd ot 2 gT 3% qUilF 3. Figures in the right hand margin
Al &<d &1 indicate full marks.

4 ¥ 1 maga‘a? Wé’# & fofT@ 4. 15 minutes of extra time have been
golenferat &1 15 e &1 Sfalia G99 allotted for the candidates to read
Fear mrar é‘ / the questions carefully.

5. g J¥T gf@?ﬁﬁ'f g @vsl 7 & — 5 This question booklet is divided into

‘ @ua-3 Ud WUS-&/ two sections — Section-A and
Section-B.
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g - / BECTION - A
]S v / Objective Type Questions

mw’w{wz#m w%m#mwﬁmﬁvwfﬁmﬁ#wmﬂhﬁﬁﬁ

. 35 x1=3
Question Nos. ] to 70 have f; ) ‘ | 5
35 questions. v our options, out of which only one is correct. Answer any

questions. You have to mark your selected option on the OMR-Sheet, 35x1=35
1. ST HTET 39T ¢
ST
(A) « 100 femrt
fa= (B) : » 100
. .
C RIS , e
(© forsrY (D) T & HIE
P/V Ratio is '
I Contribution Sales
. x100
AT Sales (B) Contnbation 00
(€) Lonérallilénon (D) None of these
2. WRAE FEe iy gRT w@fye Rear
(A)  3TTE.U%. 9., B fuveew =
(C) I dF 3 fear (D) FART %
Indian Investment Fund established
(A) IFCI {BY” Grindlays Bank
(C) State Bank of India (D) Canara Bank
3. UAE % %Y H HETier gl 9 1 YHE 99 2

a)  FHE B s

© (AT (B) TH (D) T ¥ HIE A
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What will be the effect of purchase of plant on working capital ?

(A) Decrease (B) Increase
(€} Both (A) and (B) (D)  None of these
4. TR A &
&) TN IRR S ST (B) w1 s Ao SRR S
(€ I RS T g (D) T TE Y AN A
Liquidity ratio is
(A) Stock and Debtors Turnover Ratio
(B)  Current Ratio and Operating Ratio
ASr” Current Ratio and Liquid Ratio
(D) Gross Profit and Net Profit Ratio
5. waAwgm A gige
(A) IS & G (B) I oI W4T
(C) (A)TE (B) THI D) T A A T
Increase in share premium is
(A) Sources of fund ABY~ Application of fund
(C) 'Both (A) and (B) (D)  None of these
6. FT § ¥ ®F HRE@MT IURET TE & 2
(A)  BRGHT ST B) WIE R FH
(C) FAG g (D) qagf‘r
_ Which of the following is not factory overhead ?
(A)  Factory Insurance (B}  Depreciation on plant
(C)  Office Salary (D)  Wages
[218 ] J [(B)-9016-J0) Page 4 of 24
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7. mﬂmwﬁmﬁ@mmmmw?

I (B) ®m

(C)  wafgs ke ) et o

Primary markcting of product should be determined by which of the following »

(A) Supply (B) Demand

(C)  Primary market (D)  Secondary market
8.  Wmrad: fafafusmtor sfiere fopar stam &

(€) R e & (D) U o

Generally diversification is classified in

(A) Two ways (B) Three ways

_{&Y” Four ways (D)  Five ways

9.  @HIH® ITReHae @ e it frar & 2

(A)  TH. IR S (B) =R

(C) SIS R, (D) 3 ¥ HIg 7@

Who hasl'. defined social responsibility ?

A H. R. Boben (B) Marshall

(C) George R. Terry (D) None of them
10. Ui SfaagA |RIe ¢

(A) @A E (B) AR H

) Tawdsor & O T I

Project Report is a summary of

(A) Facts (B) Information

(©)  Analysis ADT~ All of these
(218 ]J [(B)-9016-Juo ] Page 5 of 24
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11. e 39 & frprer Y veeht eravasar &
(4) s danE (B)  ATGH GamyT Fl
(C) W way (D) F[H 9 B I
The foremost need in the development of a country is of
(A)  Physical Resources - (B) Economic Resources
A€T  Efficient Management (D)  None of these
12.  FFIR qodiehA ¥ 3avas ¢
(A)  Imgfa (B) Hm
© vt # ek o) T E
Which of the following is/are necessary for market assessment ?
(A) Supply (B) Demand
(C)  Nature of competition , (D) Al of these
13. fracm 2
(A) HAEG¥gH (B) HAGI S
(C) UHT & w=id) (D) &9 & F|wEl
Planning is
A&~ Necessary (B) Unnecessary
(C) Wastage of time (D) Wastage of money
14. et it 92 At F wnfirer st @
(A) T &Har B) fagom Hifq
© & G D) ¥ @ ¥
Venture capital in new firms contains
(A)  Required capacity (B)  Marketing policy
(C) Organisation of firm (D)  All of these
[218 | J [(B)-9016-Jo) Page 6 of 24
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(A) 3= Sifigy (B) WRfEw Wifgy
(C)  =E iy == D) T 9+ =H
Venturc Capital contains _

1A~ High Risk (B)  Venture Risk
(C) No Risk (D)  None of these

16. 39 ®WRIF wary F wnfyet et ey ¥

(A)  HEeTH Hee (B) TET $RERT e
(C)  3ihegs (D) T q FIT 78
Top level management does not include
(A) Board of Directors (B)  Chief Executive Officer
(C)  Auditor (D)  None of them
17. Ay IR J 7 & @ @-91 =)oy wnfer & 9
A)  wrafgs : (B) T
(C) TdE® (D) THE R
Which of the following steps are included in indirect production ?
(A) Primary (B) Secondary
(C) Tertiary ' (D)  All of these
18. 3dRA ®gv@r 3 dffea @
(A) T @ A (B) A TW@!
© e Frite D (B) 3R ()3

Production Design includes

(A) Demand of goods (B)  Scheduling programme
(C) Product inspection (D) both (B) and (C) R
(218 | J [(B)-9016-Juoy | Page 7 of 24
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19. oafe &
(A) e (B)
(C) tfeos (D)
Labelling is
(A)  Compulsory By
(C)  Voluntary (D)
20. oA e sivi W enwiyr e o
(A) @ae o9 o (B)
(C) & =9 &y g a1 71 (D)

HAG¥gd

VA &) Faid

Necessary
Wastage of money

e a9 o
7 Q g T

Dividend on cumulative preference shares is given

(A) in the year of loss

(B) in the year of profit

AS)™ cvery ycar whether there is profit or loss

(D) none of these

21. oo oI &1 Sy ITEI0T &
a) ot W)= | (B)

() Fmfa - (D)

The best example of variable cost is

| AT

IRR T

(A)  Interest on capital AB] Material Cost
(C) Wealth Tax (D) Gift Tax
22. frarm =@ 8 |
(A) IS (B) ¥ W T
(C) WHE @I FER (D) ¥ | et
[218]J [(B)-9016-Juo) Page 8 of 24
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Planning is not

(A} Unnecessary (B) Wastage of money
(C}  Wastage of time (D)  All of these
23.  3MYRITIOT QuRe &
A IR (B)  ITUIEH FH
() wfsraratt = (D) &
Modernisation improves
(A) Products (B) Production
(C)  Processes BT~ Capacity
24. 94 @ Fi-q1 @ Sy ag ¥ )
A) GH & e (B) UREad W TR
(C) = e T O AT
Whiéh of the followiné is an element of sensing the opportunities ? |
(A)  Ability to perceive ' (B) Insight into change
(C) Innovative quality . (D) None of these
25. ¥ g9 Ted fafy wafaa § |
(/) TWHETTIH B) TF % T T A A
(C) TR % FaHHA oA | _._(DJ T | HIE
Net Present value method is related to https://www.bsebstudy.com
(A)  Time value of money (B) Inflated value of money
Gy~ Present value of money (D) None of these
06, T 3Tt whRaT H wnfEe g €
() wEEH o B) HAWH
(C) - FAHEH o) T
[ 218 ] J [@3}__9016_‘_](40] , : Page 9 of 24 |
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Learning process involves

(A) Drive (B) Cue
(C) Repayment ) _{DY" Al of these
27. el oit &w & Py o s W ¥ |
(A)  shfow danm B) g dEuA
(C)  FA HoY D) T A &
Which is not nceded in the development of a country ?
(A)  Physical Resourcces . (B) Economic Resources
(C)  Efficicnt Management (D)  None of these
28. WY §
(A)  Hen B) fas=
€) el AR fagrm D) T A FE T
Managcment is
(A) Art (B) Science
_1er~ both Art and Science (D)  None of these
29, AT
(A) e & fee B) wfow & &g
() FaHH & fog D) H |l
Planning is for
(A) Past ABY” Future
(C) Present (D)  All of these
30. URGSH GgE # Savds gl @
(A) AP (B) RS & Iw@m
(C) 3w ud AikTsw Al (D) M ¥ A R
[218]J [(B)-9016-Jo) Page 10 of 24
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In projcct identification .............. is nceded,
(A) Expcrience (B) Use of mind
Ael/ Experience and mind both (D)  None of these

31. URESAT arher

) T foreeteor (B) Forewt farveion
(C)  ETWEREEAT fagersur D) T E FE T
Projcct appraisal is an/a
(A)  Export Analysis (B)  Expert Analysis
el Profitability Analysis (D)  None of these
32. et Goi W T €
(A) SRR B) S Nufgwy
(C) g fospl (D) ¥ & @t
The source of working capital i1s
(A) Debtors . (B) Bank overdraft
(C) Cash sales (D) All of these
33. ffeifed § o R-Ae afEEa € 2
(A)  SUE HOI B) ¥ fufawd
©) e e (D) ToRT =

Which of the following is non-current liability ?

(A) Mortgage Loan (B) Bank Overdraft

(C)  Outstanding Salaries (D)  Prepaid Expenses
34, @4 AEd SFIE I
() A A H (B) TR S
(©) e S (D) fercia feer jﬁl__

[218 ] J [{:B);g(_)_lﬁdmuj | Page 11 of 24
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Stock Turnover Ratio comes under
Profitability Ratio

(A)  Liquidity Ratio (B)
(C) Activity Ratio (D) Financial Position Ratio
35. P 3 @ #Na-wf wn-faedw favawr i e @ ¢ 2
(A) e e ) T T
(C) W§-3IR H Y IUGehell (D) [fesra A o afterA
Which of the following is not a limitation of Break-cven analysis ?
(A)  Technical stability
(B)  Cost segregation
(C)  Suitability of Multi-product Firm
= (D)  Change in selling price
]
@ 36. AEH & fow fagum &
2
é A)  ATEE (B) STA¥EH
g
o (C) HAEYGSH (D) faentaan
wn
5_ For business, marketing is
g _A~  Compulsory ‘ (B) Necessary
5 (C) Unnecessary (D) Luxury
37. v fAmus @9
(A) meA-dfY fam @ (B) 3eT-3rafy fo @
€ siicre fam & D) ¥ A FE
Issuc of shares is a source of
(A) Medium-term finance (B)  Short-term finance
(C) Long-term finance (D)  None of these
[ 218 ] J [(_}_5)-9676314011 Page 12 of 24
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A) - ST Friegor (B)  wiswar Frdteor
() Frter fovermor D) T Qo

The important aspects of product inspection are
(A) Production inspection (B)  Process inspection

(C)  Inspection analysis (D)  All of these

39, Wmﬁm—%a—@rm%m

(A) SERAETEWMY (B) 3R Wear &

(C) 3IART f&R war (D) 9 A HI$ T
Fixed cost per unit increases when
A& Production decreases (B) Production increases
(C) Production remains constant (D) None of these _

40. U § RRT ¥
(A) 3TN forar B) "® femr
(C) IR & T fawR o) T AR

Integration mcané
(A) Expanding inicrnally
((B/ Expanding externally
(C) Expanding internally and externally
(D) None of these

41. qﬁmﬁmﬁmﬁ"{%

(A)  SEH ERI (B) FEUH EFT
() U EW D) T QW F g
(218 | J [(B)-9016-Juol | Page 13 of 24
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Project is prepared

(A) by promoters (B) by Managers
(C) by Entreprencur _ '__,{D‘f/ by all of them
42, At anfere favewer § ggam fear smen &
(A) e e (B)  HRT WOIEAT
©) Fata goamEsy " (D) FET gearEE
Techno-cconomic analysis deals with identification of the
(A)  Supply potential _4Br  Demand potential
(C)  Export potential (D)  Import potential
13, amE A F ke ¥
—
3 (A) T EE (B) I F AT
un
=) (C) 9l & 3y (D) T & et
=
= The determinant(s) of bonus policy is/are
% (A)  Amount of Profits (B)  Liquidity of Funds
4 (C) Age of Company (D) All of these
=
2 44, YR dreifre fee Ud sTeRyw R wnfia fean T
- | |
2 (A 1975 (B) 1986
(©) 19887 (D) 1990 H
Technological Development and Infrastructure Corporation of India
established in
(A) 1975 (B) 1986
(C) 1988 (D) 1990
45. T sl <91 & fowd 4 qaq Afys svevaear ¢
(A) il daea & (B) 3P Wy 53
(C}) FA g4 &l (D) @ g ﬁ\l:;' T
, 2 18 I lJ !(!i"()() l-()"nj{‘l‘{}}-] Pagc 14 of 29
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The foremost need of development in a country is of
(A) - Physical Resources (B)  Economic Resources
A4Sy~ Efficient Management (D)  None of these

46. ﬁwﬁﬁ%@,mm@mwwaﬂﬁmmmm%?

Lu00'x(pm,sqesq'mmm;/:sduq

(A)  IRA W B) At
(C) TN & TrEHT D) T s
Which of the following is to be considered while selecting a product or servie »
(A)  Cost of Production (B) Competition
(C)  Profit Possibility (D)  All of these
47. TR Gl Y ST A B
(A) T GeR | ®)  wshE G
(€) ot o (D) 38 | FIE T
Working capital is known as
(A)  Seed capital - (B)  Circulating capital
(C) Real capital _ (D) None of these
48. GIg e =UH HT ¢ ,
(A) SIS _ S (B)  Tem
© (D). AR O

The most extensive scope is of
(B) Labelling

(A) Brand

{or~ Packaging (D) Trade Mark
49. mw%wwﬁmﬁrﬁqﬁ%

(A) Frs & A (B) I & WA

(C)  IN T IR D) ¥ & qﬁ/
[218 ] J [(B)-9016-Jw0) Page 15 of 24
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Increase in Fixed Assets due to cash purchase is

(A)  Sources of Fund (B) Application of Fund
: (C)  Inflow of Fund (D) None of these

50. U 9%el Il § sravd @ e arfew
(A) - HFe = B) = F1
(C)  TaueH a1 oy - (D) ¥H | g
A successful entrepreneur must possess the quality of
{A)  Leadership (B) Control
(C)  Innovation (D)  All of these

51. Favr faversm gafim
(a)  ffemor strervashat (B) QI ITEvEEHan
(C) &Y HEWaHhad : (D) WA FEvaEHA
Investment analysis deals with
(A)  Funding Requirements _{By” Material Requirements
(C) Labour Requirements (D) Resource Requirements

52. 7 FUYT g1 &

&) ot gk (B)  ilTh R

(©  3fer O) T
Naked debentures are |
(A) Fully secured , (B)  Partly secured
-_(-6‘( Unsecured (D)  None of these
53. TRy gEfya @ |
(A) fgEr geq eEfy | | (B) I Iy |
©) Trurags safa @ (D)  aUrdTEoT arafy @
[218 ]J [(B)-9016-Jio) Page 16 of 24
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Gestation period is concerned with

(A} Idea creation period (B)  Incubation period
G Implementation period (D) Commercialisation period

54.  ITmEA www o wfte o}

(A) - e see | e FERY A

) fawvm yeus D) A ik (B) 21

Top Level Management includes

(A)  Board of Directors (B)  Chief Executive Officer

(C}  Marketing Manager (D) both (A) and (B)
55. fawm em ur @

(a) I W (B) wHawIEdl @t

(C)  ITHRRTST T (D) T | W W

Marketing expenditure is a burden

(A)  On Industry “(B) On businessmen

/(-e‘l/ On consumers (D} On all of these

56. U& YRESAT €

(a)  Tiafafuzi &1 @ (B) U faraiy

) awiwg nfafatudl ®1 W (D) T | Hig T

A project is

AT~ Cluster of activities (B)  Single activity
(C) Group of countless activities (D) None of these
B

[218]J [(l‘lljd_-_‘)q_l__ﬁ_—_d_mu] I Page 17 of 24
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WY Fell &

(A) = HH F @

B)  TW A w8 H

€)= FW & d gl @ & A A B
D) ¥ | B T

Management is an art of
(A) Doing work onesclf
(B)  Taking work from others
€]~ Both for doing work oneself and taking work from others
(D) None of these

I =ERR Efud 81 e &
(A) ST & SG3T F IeureH B) 3o sgeeR @1 uikasH
(C) IR ameEar # g (D) @I 3T Wi

Social behaviour is not concerned with
(A) Production of goods for public
(B) Avoidance of uncthical behaviour

(C) Fulfilment of social obligations

_PT Profit carning process

ICAPTA ATHIA foha T8 I ey 1 Mie e ¢ 2

59.
(A)  12T® (B) 24 7@
(C)y 18HE (D) 36 HE
Short-term forecast involves a period of how many months ?
A1 12 months (B} 24 months
(C) 18 months (D) 36 months
1218 ] J [(13.9016-Juo ] Page 18 of 24
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60. ¥ ¥
A R amm o amyyafa ®)  feadeie amm . for e
€ R &ma - wify (D) T QA B A
Contribution is
(A) Fixed éost + Profit/Loss (B) Variable cost + Fixed cost
(€)  Fixed cost - Loss (D)  None of these

61. ﬁwﬁﬁaﬂqwﬁmvﬂuqmsﬁaaﬂwﬂaﬂmﬁrmmﬁmm% ?
A) e e =1 @ () anfaew Hfear
(C) =R % ffg (D) ¥ & 9«
Which of the following is an economic factor affecting environmental scanning ?
(A) Stage of economic development (B) Economic policies
(C) Market situation (D)  All of these

62.  SUFH T I Fd T WM A A4 fg ¥

(A) SR @) fomom
(©) ot @I IueTRgEr D) T/ HE @
The point which is to be considered while selecting an enterprise is
(A) Product - (B) Marketing -

_/[,GT/ Availability of capital (D) None of these

63, Fre @ B-d gawd ¥ e HE T ¢ 2

A)  SiREd we | B) v Faee we =
(C) T4 Aifa (D) HW &l wgfd

Which of the following is not a problem related to business ?

A7~ Risk management
(B) Profit planning and expense control

(C)  Price policy
(D)  Trend of demand

(218 ]J [(3)-9016-Juo | |
https://www.bsebstudy.com
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64. WA Afuw aqa Oy 7 &

(A) ®UE By ot
©) V&b D) A w el
The moat extenaive acope is not of
(A) Brand (B) Labelling
{(C) Packaging (D) None of thcsc
65  safena fawa @
(A) s vl @) fafaa sfa
(C) T¥T wafa D) WA I &
i
% Personal selling is
fq (A) Verbal Presentation (B) Written Presentatior
é (C)  Visual Presentation (D) None of these
£ 66 amm e dm A wEd
o
&
Z (A) 0T @) ufasemof (B) AR W
=
e
P © g D) T A F @
&
3 Market Demand is known as
_{A~ Demand forecasting (B) Real Demand
(C)  Supply (D)  None of these
67. TV &
(A) & ™ (B) Y 1 frarey
(€) TG &N (D) sfeafe oy @ aiy
Dividend is
(A)  Net Profit A4B]  Appropriation of pro
(C)  Reserve Fund (D) Partof undistributec
e — " e e ] —————
1218 | J [18)-9016-Juo | Page 20 of 24
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° Wﬁ%“@ﬁm%?

(A) - -
| T T @l (B) e SHeER it sty
C
) W Sy 5 gfa (D) ™ &9 uiwg
Which of the following is ;

Avoidance of unethical behar
Profit Earning Process

(€ Fulfilment of social obligations (D)

89. RV AR s R &

(A) 2. B 1:2
(C) 3:2 D) 4 1
Ideal Current Ratio is
AT 2 (B) ' 1:9
@32 D) 4:1
70. TRl st #Y vty e e S @ & o
(a)  fer : B) afEr
(C) - It | (D) 7 (A) 3R T ()
What is the nature of working capital ?
(A) Stable ' (B)  Unstable
(C} - Floaling | (D)  Neither (A) nor (B)

@YY - & / SECTION - B
g Wﬁ'ﬂ U3 / Short Answer Type Questions
wFT G&T 1/ 20 % @Y IR 1§ R R 10 vt F v &1 wRw F
2 JF Fraffia &1 10 %2

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each QI.Z;E
carries 2 marks. https://www.bsebstudy.com 10 x

1. oo & &F &1 qu

Explain thc scopc of marketing.

qfcatomT whdeT % Hi 31 ILed FaRC |

State any two objects of project report. , -

(218 ]J @)-9016-&4@ Page 21 0f 24
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10.

11.

12.

13.

14.
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sy ST N gfg e ¥ & 2
Management enhances the cfficiency. How ?
foha Hag =Y it ¥

Define sales promotion.

Ierdt Toft & Bl = 7w

State sources of Venture Capital.
FaT % g SaEn)

Statc thc importance of planning.
ot & iR w g 2

What is ploughing back of profit ?
Torifa = g 2 "
What is strategy ?

SR fFaRor s g 2

What is market assessment ?

et qoft st sTravasar frg Reg & e adt & 2

For which object is sced capital nceded ?
e fEET T E 2 |

What is quality control ?

st ifgea st afoamen g

Definc Social Responsibility.

TRV T § 2

What is Environment ?

IR WaTd 1§ 2

What are the infrastructure services ?
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15 T R g e,

Give
. tlwo d;f;:‘);s q‘::;a:agemcnl. 2
State any two factors to be o o 2
. E}q o anTUT . conmdefmd In promotion of business enterprise
T 1 e ¥ ) 2
1W.."l'ua\l do you mean by Fund Flow Statement ?
18.  ¥ERH WY )
What is contributijon ? |
19, Fwier Ot & Raforr s e g2 2
What are the various types of working capital ?
20. dR]A[MEFREE ? | i

What is Current Ratio ?

ﬁé I W / Long Answer Type Questions
WY H@r 21 € 26 it Iwdg ¥ o ¥ R 3wl & I %) uew & fo
5 3% Fuifa ) 3x5=15

Question Nos. 21 {o 26 are Long Answer Type. Answer any 3 questions. Each question
‘carries 5 marks. https://www.bsebstudy.com 3x5=15

21. 3 TE HUGH B R WL ST 5

Distinguish between share and debenture.

o VEY F U 1 G0 i s
Describe nature of management.
23 W@mm%?ﬁuvﬂma;ﬁﬁﬁmm’rmaﬁqﬁl 3

What is meant by marketing ? Explain any four functions of marketing
a 1

managecr.
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24, N yaR w4 g ?wwﬁwﬁﬁﬂﬂmmﬁ ?
What is Fund Flow ? Why and how is it prepared ?

25. et ygar i wEle & SwaT ) ST S
Explain the usc of SWOT in project identification.

26.  wrivier §oit ) sifm e A el 1 AU PIT

Describe the factors affecting the working capital.

https://www.bsebstudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10/~
o gU= Aodr far iR 10 v9d 9,
Paytm or Google Pay @&

[2181J [13):9016dwn ] pupie——

https://www.bsebstudy.com

wod Apnysqasq mmm//:sdpy



